
Issue Date
INSTALLATION

INSTRUCTIONS

Publication No.

Honda Dealer: Please give a copy of these instructions to your customer.

© 2015 American Honda Motor Co., Inc - All Rights Reserved. 0SR01-HR5-100 1 of 3

ApplicationAccessory

PARTS LIST

QUICK RELEASE ATV 
WINDSCREEN

P/N 0SR01-HR5-100

TRX500FA5/FA6/FA7
TRX500FM5/FM6/FM7

MII 15016

December 2015

No. Description Qty

(1) Windscreen 1

(2) Adapter bracket, Right 1

(3) Adapter bracket, Left 1

(4) Support arm, Left 1

(5) Support arm, Right 1

(6) Center support bracket 1

(7) Tensioner knob 2

(8) 8 x 30 mm bolt 2

(9) 8 mm locknut 2

(10) 6 mm flat washer 4

(11) 6 x 16 mm screw 4

TOOLS AND SUPPLIES REQUIRED
12 mm open-end wrench
4 mm hex wrench
Thread Lock (Loctite 242 “blue” or equivalent)

(1)
(5)

(6)

(11)

(4)(2)

(3)

(7)

(8)

(9) (10)

TORQUE CHARTS
Tighten all screws, bolts, and nuts to their specified torque 
values. Refer to the Service Manual for the torque values 
of the removed parts.

Item N·m kgf·m lbf·ft

6 mm screw 2.3 0.23 1.7

8 mm screw and nut 4.5 0.46 3.3

USE AND CARE INFORMATION
• Replace this accessory with a new one if it is 

damaged or discolored excessively.
• When this accessory becomes dir ty, r inse i t 

thoroughly with cool water to remove loose dirt, then 
wipe with a clean cloth or sponge. 

• Do not use a brush to clean this accessory as it may 
scratch the surface. 

• Never use, or expose this accessory to petroleum 
solvents such as gasoline, thinner, benzine, acid, or 
alkaline cleaners.  

• If the ATV is left covered for an extended period of 
time, park in the shade.  Parking a covered ATV in 
direct sunlight can cause the accessory to deform 
due to heat buildup under the cover.   

• Check the accessory mounts frequently and retighten 
if necessary.



© 2015 American Honda Motor Co., Inc - All Rights Reserved.2 of 3 0SR01-HR5-100

The windscreen can be damaged by high winds 
during transpor tat ion. Remove the windscreen 
before transporting or trailering the ATV. Be sure 
to check for correct handlebar range of motion and 
component clearance every time the windscreen is 
re-installed.

INSTALLATION

1. Hold the center support bracket in place on 
the outside of the windscreen, l ining up the 
threaded holes in the bracket with the holes in the 
windscreen.

2. Apply a small amount of thread lock to the threads of 
both 6 x 16 mm screws.

3. Install the Left and Right adapter brackets to the 
inside of the windscreen using two 6 x 16 mm 
screws and 6 mm flat washers per bracket.

• The adapter brackets are slotted for adjustment; 
install the hardware in the nominal position for now.

CENTER SUPPORT 
BRACKET

LEFT ADAPTER 
BRACKET

6 mm FLAT 
WASHER

6 x 16 mm SCREW

6 mm FLAT WASHER

RIGHT ADAPTER 
BRACKET

WINDSCREEN

4. Instal l  the Lef t  and Right suppor t  arms to 
the previously-installed adapter brackets as 
shown, using one 8 x 30 mm bolt and one 
8 mm locknut per bracket.

• The bracket arm should be able to rotate smoothly 
during installation, while stil l supporting the 
windscreen.

• Install the suppor t arms at the approximate 
angle shown in the illustration to allow for easier 
installation to the vehicle.

8 x 30 mm SCREW

8 x 30 mm BOLT

8 mm LOCK NUT

8 mm LOCK 
NUT

LEFT SUPPORT 
ARM

RIGHT SUPPORT 
ARM

UT

LEFT ADAPTER BRACKET

LEFT SUPPORT ARM



© 2015 American Honda Motor Co., Inc - All Rights Reserved. 3 of 30SR01-HR5-100

5. Orient the open ends of the support arms around 
the handlebar and snap them into place in the 
locations shown.

HANDLEBAR

* Combination meter and 
handlebar controls removed 
to show mounting location

RIGHT SUPPORT ARM

LEFT SUPPORT ARM

• Due to variations in the placement of the handlebar 
controls and/or other accessories, it may be 
necessary to adjust the routing of nearby cables 
to avoid interference with the windscreen support 
arms.

6. Adjust the position of the windscreen in relation to 
the combination meter by tilting the windscreen at 
the base of the support arms as needed.

• Turn the handlebar along its entire range of motion, 
checking the clearance between the windscreen and 
the shift knob on the left side of the vehicle.

• The windscreen position can be adjusted vertically 
by loosening the adapter bracket hardware and 
raising or lowering the windscreen.  

7. Once the desired position is achieved, thread a 
tensioner knob into the base of each support arm 
and tighten until snug.

TENSIONER KNOB

HANDLEBAR

RIGHT 
SUPPORT ARM

LEFT 
SUPPORT ARM

8. Once all adjustments have been made, tighten all 
hardware to the values shown in the Torque Chart.




